Assignment No.1 Solution (CS614)
Q1: Normalize the following given data in 3NF

Patient No, Patient First Name, Patient Last Name, Patient Address, Sex, Tel No, DOB, Marital Status, Date Reg., Next of Kin Name, Relationship, Next of Kin Address, Next of Kin Tel No, Local's Doctor's Name, Clinic No, Doctor's Address, Doctor's Tel No

Solution:
1st NF
The table is in 1st NF as all the attributes have an atomic value. 

Patient
	Patient No
	Patient First Name
	Patient Last Name
	Patient Address
	Sex
	Tel No
	DOB
	Marital Status
	Date Reg
	Local Doctor's Name
	N-O-K Name
	Relationship
	Address
	N-O-K Tel No

	Local Doctor's Name
	Clinic No
	Doctor’s Address
	Doctor’s Tel No
	
	
	
	
	
	
	
	
	
	


2nd NF
In second NF we have divided the patient relation into three relations that are: 
1. Patient

2. Nextofkin

3. Doctor

The reason was that some of the attributes were not fully dependent on the primary key which is PatientNo. Thus we divided into three relations in order to remove the partial dependency.
Patient
	Patient No
	Patient First Name
	Patient Last Name
	Patient Address
	Sex
	Tel No
	DOB
	Marital Status
	Date Reg
	Local Doctor's Name


Nextofkin

	Patient No
	N-O-K Name
	Address
	N-O-K Tel No
	Relationship


Doctor

	Local Doctor's Name
	Clinic No
	Address
	Doctor’s Tel No


3NF
In 3rd NF we have further divided the Nextofkin tables into two relations that are:
Nextofkin

Pat-NOK

We divided it because there was transitive dependency among some of the attributes of the Nextofkin relation.
Patient
	Patient No
	Patient First Name
	Patient Last Name
	Patient Address
	Sex
	Tel No
	DOB
	Marital Status
	Date Reg
	Local Doctor's Name


Nextofkin

	N-O-K Name
	Address
	N-O-K Tel No
	Relationship


Pat-NOK

	Patient No,   
	N O K Name
	Relationship


Doctor

	Local Doctor's Name
	Clinic No
	Address
	Doctor’s Tel No


Q2: It is believed that Classical SDLC is not suitable for Data warehouse environment.  In your point of view why it is not suitable. Secondly what changes you suggest to be made in Classical SDLC to make it suitable for data warehouse. Give reasons to support your ideas?
Solution:

We Develop Data ware house to build Decision Support System (DSS) however the classical system development life cycle (SDLC) does not fit for developing the DWS. This is because SDLC requirement is to know all the requirements in advance whereas in case of DWH the requirements are not known in advance but rather the requirements arise as the DWS is developed. 
Suggestions:

There are some suggestion if imployed can make the SDLC a bit flexible.

1. The requirements are not known in advance show the DWH developer has to build some part of the DWH, and then give to the user. Once they start using the DWH the user will know their requirments and thus then the SDLC phases can be used. 

2. The SDLC phases show have a liinkage direct with another phase will lead to the flexibility to move from a phase to anohter phase at any time. This will make it very much flexible.

3. There should be a mechanism to move to the implementation phase and then to the requirments for analysing the requirments. 

4. Prototyping can be helpful to get the feedback from the user about the enhacement of the system. 

